@) Chapter 1 Review/Test

Vocabulary
" " Yocabulary

1. The states that multiplying a sum
by a number is the same as multiplying each addend inthe sum . DietributiveFroperty
by the number and then adding the products. (p.14) inversgoperations

HE. e o 1 b

Concepts and Skills -
Compiete the sentence. (cc.5.N8T.1)

2. 7,000 is 10 times as much as 3. 50is 5 of

Complete the equation, and tell which property you used. (cc.5.N8T6)

4. 4 x(12 + 14) = + (4 X 14) 5. 45+ 16 = + 45

find the value. (cc.5.N81.2)

8. 8 x 103

6. 102 7. 3 x 104

Estimate. Then find the product. (ccs.ners)

9, Estimate: '| 40. Estimate: 11. Estimate;

579 - 7,316 436
X 6 ' X 9 x 32

Use multiplication and the Distributive Property to find the quotient. (cc5.Ne7s)
12. 54+ 3 = 13, 90 + 5 = 14, 96 + 6 = ,

Evaluate the numerical expression. (cc.5.0a.1)

15, 42 - (9 + 6) 16. 15+ (22— 4) + 6 17. 6 X [(5 X 7) = (7 + 8)]
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o Chapter 2 Review/Test

» Vocabulary

Choose the best term from the box.

Vocabulary

e _ . . mpatible number:
1. You can use to estimate quotients - - GOTPAVEIS umbete . .

because they are easy to compute with mentally. (p. 79)

....patialquotients

wr.._place value

2. To decide where to place the first digit in the quotient, you can

estimate or use __ ' (5.6
P> Concepts a_nd Skills -
Llée compatible numbers to estimate the quotient. (cc.5.NBT6)
3. 522 +6 . ’ 4, 1,285 + 32 L 5. 6,285 + 89 ',-

' Divide. Check yOur answer. (CC.5.N57.6)

6. 2554 | 7. 8)680 | 8. 5]463

0. 522 +18 . 10. 529 + 37 1. 987 + 15

i ——— — P S

[13.5210 <17 14. 8,808 + 42

121,248+
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COMMON CORE STANDARDS CC.5.NBT.1, CC.5.NBT.3a,
Name CC.5.NBT.3b, CC.5.NBT.4, CC.5.NBT.?

Chapter 3 Extra Practice

Lessons 3.1-3.2

Complete the sentence.

1. 0.7 is 10 times as much as . 2. 0.003 is 3 of

Write the value of the underlined digit.

3. 3.872 4. 0.194 5. 11.776 6. 4.001
Lessons 3.3-3.4
Order from greatest to least.

1. 5.006, 5.917, 5.08, 5.99 2. 0.823, 1.823, 0.732, 0.832

Write the place value of the underlined digit. Round each number
to the place of the underiined digit.

3. 0.829 4, 7.918 5. 11.507
Lessons 3.5-3.9
Esiimate. Then find the sum or difference.
1. Estimate: 2. Estimate; 3. Estimate:
8.5 26.42 8.26
+ 1.8 -98 + 0.47
4. Estimate: 5. Estimate: 6. Estimate:
7.06 — 1.95 24 — 5.392 3.6 +2.16 + 1.34
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» Chéck é‘ﬁhcepts

1. E)ip]gln how estlmatlon helps you to place the decimal pomt when

multiplying 3.9 X 5.3. (CC5.NST.2, CC5.NBT) udalipg {10450

| Complete the pattern. «ccs.NeT2) : . g :

; ; : P RO S Bl anioey DOEEs  SORERIEY iT JT JETOMT i o

e300 X‘~3"76 2= 4 sbut Yo DG IR o] dliniany
P SEIOA WEITOWDT b el Ao cabdudie boeridaine A any o

: 1(3“)(7.45 = 101 X 376 2 = i A e oL A9F T b et

i

(\.

bt i

100745 =___° 102 x 376.2 = 001 xAgrah o 14
N 1,000 x 7.45 =

Find ﬂf‘e",'pi'oduct. {CC.5.NBT.2, CC.5.NBT.7) ety :

5. 5%089 = ' 6. 9x235= 7. 23X 8.6 =

8 7.3X06=___ 9. 0.09 x 0.7 = 10. 0.8 X $0.40 = _
Marsan s

) ] STt B R TR RO

Draw a diﬁgram to solve (CC.5.NBT.7)

11 In January, Dawn earns $9. 25a]|owance She earns
3% es as much in February. If dunng March, she
h§ $5 75 more than she did i February, how
mtlch allowance does Dawn earn in March?

_— mamt-sm'ﬁw
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@ Chapter 5 Review/Test

Concepts and Skills
Complete the pattern. (ccs.ner2)

1.341+1=___
341+ 10=_
341 + 100 =_
341+ 1,000 =

stimate the quotient. (cc.s.net.n
4, 493+ 6

ivide. (cc.5.N87.2, cC.5.N8T.7)

. 6)3.24

) 1.08 + 0.4

. 9.18+0.9

2. 15+1=___
15+10=_
15+100= " _
15+ 1,000 = _

i

3. 68.2 + 10° =

68.2 + 10! =
68.2 + 102 =

6. 396.5 + 18

8. 5)6.55

9. 26)96.2

11. 8.84 +~ 0.68

14. 127 + 5

18 Assessment Options
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12. 7.31 + 17

15. 8.33 + 0.34
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(V) Chapter 6 Review/Test

» Vocabulary
Choose the best term from the box. Voca bulary
1. A is a number that is a common dertominator
common multiple of two or more denominators. (p. 255) common mul-tiple

» Concepts and Skills

© Houghton Mifflin Harcourt Publishing Company

Use a common denominator to write an equivalent
fraction for each fraction. (cc.5.nr1)

2. g,% common ‘ 3. %,; common 4, %% common
denominator: . denominator: denominator:
|
Find the sum or difference. Write your answer in simplest form (ccs.nE1)
s, 7 1 242 3,37
5'6+8 6. 23 15 7. 74+320
!
Estimate. Then find the difference and write it in simplest form. (cc.s5.nF1)
8. Estimate: ' 9. Estimate: [10. Estimate:
2_2 wd | 5L_35
15 3 7 7 1‘ 59 36
Use the properties and mental math to solve. Write your answer in
simplest form. (cc.5.NE1)
3,21,1 I 4 34,3 3 740935
n(3+3+1 12 12+ (255 +3) 13. 33 + (17 + 23

i
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() Chapter 7 Review/Test

» Concepts and Skills

1. When you multiply 3%— by a number greater than one, how does the
product compare to 3%? Explain. (CC.5.NF5a, CC.5 NFSD}

Lise a model to solve, (o sieey)

2 2 3 | 5
2.3X6 :3.7X14 4.8><24

Find the product. Write the product in simplest form. (cc s r1r.40)

S.gX8=__. . 6.yx10=__ 7. 5% 15
é .-2 = l é = ' g l -
8 8%57- 9. ex3=__ 0. §x

Complete the statement with equal to, greater than, .or less than.
{CC5.NF5a, CC5.NESb)

© Houghton Mifflin Harcourt Publishing Company

7 % 8 wi ' 7 : 1.8 8
11. 8 X 6 wﬂl be g 12. 5 X 9 will be 9
? Assessment Options
Online Qgpfer_ Test_——

Chapter 7 333



Wame
Adding and Subtracting Fractions and Mixed Muinbess

Directions: Add or subtract each mixed mumbcr below. You MUST sunphly your answer.
3
5
4 i
1 - A
¥ 10 4
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2
10
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For pumbers 5 - 8, sobve the word probleins,

] i

Lo That was 2 7

more hours than he slept the night
3 ) :

5 On Friday night, Lim slept for 10

before. How many hours did Lin sleep on Thursday ymyhi?

1
night. Now she takesal — hour nap and slceps 5 hours at

2

6. Frances used to get 8 hours of sleep each

night. How much has ber total sleep changed?

™~

2

inches off her hair at the hairdresser this weekend. Sam cut off 3 7 inches of his.
. g

7. Mary cut4 T
5

How pauch more hair did Mary cut?

miles. How much more does he have to nmn

8. Tyson wants to run 8 miles today. So far, he has run 5

to meet his goal?
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